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PART A: Vocabulary

Directions: Cloose the word or phrase (1), (2), (3), or (4) thut best completes each sentence.
Then mark the correct choice on your answer sheet.

1-  The police only belicved me after an cyvewitness --—-—-—- my account of the aceident.
1) displaved 2} constituted 3) corroborated 4) suspected

2-  The plan is to our ---—---— advantage; we will all benefit greatly from it.
1) concurrenl 2) mutual 3) devoled 4y involved

3-  Our organization is committed to pursuing its aims through peaceful -———-—-- . We totally
reject violence as a means of political change.
1) means 2) instruments 3) devices 4) padgets

4-  All parents rcecive a booklet whieh --------—- the school’s aims and ohjectives before their
children start their first term.
1) clarifies 2) injects 3) conducts 4) notifies

3 Increasing the state pension is 2 --—--———- aim, but I don’t think the country can afford it
1) redundant 2) diverse 3) tlexible 4) laudablc

6- The primary aim in sumo wrestling is to knock your -----—-—-- right cut of the ring!
1) protagonist 2) opponcnt 3 rclorce 4) beneliciary

7-  The cost of the damage caused by the oil -------—--- will be around 5200 million.
1} spill 2) guilt 3) demerit 4) extent

8  Most of us ~——--———- when we hear that many children spend more time watching TV
than they spend in school. 1t°s a rather scary thought.
1) withdraw 2) retreat 3) recoil 4) regress

9-  Even though he isn't enrolled right now, Calvin says he will go to college -----—----,
1) creatively 2) delicately 3) sentimentally 4) eventually

13-  You shounld aveid driving during the snowstorm because the icy roads are ---—-—--—,
1} superficial 2) frigid 3) perilous 4) cautious

PART B: Cloze Test

Directions: Read the folowing passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on vour answer sheet.

When it comes to visually identifying a work of art. there is no single set of values or
acsthetie traits. A Baroque painting will not necessarily {11) -——-------——- much with a
contemporary performance piece, but they are both considered art.
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(12) —=mmmmmmmee- the seemingly indefinable nature of art. there have alwayvs existed
certain [ormal guidelines [or its aesthetic judgment and analysis. Formalism is a concepl
n art theoty (13} —--------——- an artwork’s artistic value is determined solely by its form. or
the way (14) ---emmmmmmm-- . Formalism evaluates works on a purely visual level, (15) ---—---
medium and compositional clements as opposed Lo any relerence Lo realism, conlext, or
content.
11- 1) share 2) be sharing 3) have shared 4) be shared
12- 1) Although 2) Despite 3) Regardless 4) However
13- 1) that 2y thatin it 3) which 4) in which
14- 1) of it made 2} made 3)howitismade  4)itis made
15- 1) are considered 2) considers 3) considering 4) and consider

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the

hest chaoice (1), (2}, (3), ar (4). Then mark the correct choice on vour answer shect,

PASSAGE I:

Red was a Japancse naval code created during World War 1 and uwsed until the
outbreak of World War II. The Red code vsed the additive encryption method. The
code assigned words and syllables numerical values. Before transmissions, these
numbers were encrypted a second time using an additive codebook. 'lhe book
contlained a serics of numbery that were added Lo the original numerical message in
sequence. Fach message contained a key thatl told the receiver where 10 begin the
additive sequence in the book 1o decode the message. Cryplelogists named the code
Red alier the color of the lolder in which deciphered codes were bound.

In 1923, a United States Navy intelligence officer located a copy of the 1918
Imperial JTapanese Navy secret operating code in the luggage of a visiting Japanese
attache. The codebook was clandestinelv photographed and a special cryptelogy unit,
known as the Rescarch Desk, was crcaled 1o begin the task of monitoring and
deciphering intereepled messages. At the time, U.S. Naval Intelligenee monitored only
ship-to-ship communications and some radio transmissions in Asia and the Pacific.
The Research Desk team established intercept stations throughout the Pacific and
increased monitoring of Japanese diplomatic and military transmissions,

Cryplologisis worked for [ive vears 1o [ully translatc and break Red, the additive
cipher that the 1918 codebook contained. Intercepls continued o use the aging code,
facilitating the work of 1.8, code breakers. In 1926, Lieutenant Joseph J. Rochefort
accepted the directorship of the Research Desk. Rochetort was a skilled code breaker,
but also fluent in the Japanese languaze and undertcok much of the translation work
for Red himself. Repeated messages and phrases that appeared 1n several transmissions
helped code breakers recognize various additive decipherments, Three years alier the
anualvsis of Red began, eryptologist Agnes Mceyer Driscoll cracked the code’s additive
cnerypiion key. With the additive key, and the photographs ol the original code book,
any Red code message could be deciphered.
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‘The Japanese replaced Red with a more sophisticated code on December |, 1930,
LHowever, the new code, called Blue, contained numeric paticrns that so closcly
resembled Roed that Driscoll and her team were able 1o decipher and translaie Blue in
only two vears.

According te the passage, Japan stopped using the Red code -—--—-—--,
1) until the end of World War |

2) by the end of World War 11

3) al the starl ol World War IT

43 belore the ULS. could break the code

Why was the Japanese naval code called red?

1) Because the flag of the Japanese navy 1s red

2) Because it nsed different shades of red for coding

3) Because red is a symbol ef the additive eneryptlion method

4y Because ol the color ol the [older lor its deeryvpled codes
According to paragraph 2, the Research Desk ---—--—--,

1y was a unit used for clandestine photography

2) was found in the luggage of a Japanese passenger

3) guided the Japanese to decrypt their coded messages

4y was created by ULS. intelligence 1o monilor Japancsc messages
Which of the following in NOT correct according to the third paragraph?
1) Rocheford knew the Japanese language well.

2) The additive portion of the code was broken by Driscoll.

3) Repetition of messages and phrases helped code breakers.

4y After 1918, any red code message could be deciphercd.
According to the passage, translating the bloe code —---—--—--,

1) was not a difficult task for Driscoll and her team

2) was hindered by its numeric similarities to Red

3) did not happen until the end of World War 11

4y oceurred 1n 1930)

PASSAGE 2:

Controlling access to information systems became profoundly move difficult with the
spread of wide area networks (WANS) and, in particular, the Internet. Users, as well as
interlopers, may access svstems [om any unatiended computer within an organization
or from virtvally anywhere over the Internet. As a security measure, each legitimate
user has a unique name and a regularly changed password. Another security measure is
to require some form of physical authentication. such as an olyect (a physical token or
a smart card) or a personal characteristic (fingerprint, retinal pattern, hand geometry,
or signature), Many gysiems combing these types of measurcs—such as aulomatic
teller machines, which rely on a combination ol a personal identilication number (PIN)
and an identilication card. Sccurily mceasurces placed belween an organizailon’s
internal networks and the Internet are known as firewalls. These combinations of
hardware and software continually filter the incoming, and often outgoing. data traffic.

A ditferent way to prohibit access to information is via data encryption, which has
gaincd particular importance in clectronic commeree. Public key eneryption is used
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widely in such commerce. To ensure gonfidentialitv, only the intended addressee has
the privale key nceded o decrypt messages thal have been cncrypicd with the
addressec’s public keyv, Furthermeore, authentication of both partics in an clectronic
transaction is possible through the digital certificates issued to both parties by a trusted
third party and the use of digital signatures—an additional code attached te the
message to verify its origin. A type of anti-tampering code can also be attached to a
message to detect corruption, Similar means are available to cnsure that partics to an
¢lectronie transaction cannol later repudiate their participation, Some messages require
additional atributes. For example, a payment in cleclronic cash is & lype ol message,
with cneryplion used Lo ensure the purchaser’s anonyimily. that acts like physical cash.

Which of the following types of security measures are NOT mentioned in paragraph 1?

1) 1D cards 2) Firewalls
3) Lye scany 4) Veriflication codes
According to the passage, in order to allow acecss, ATM machines require ----—--—--,

1}y a mix of personal and physical authentication

2) a combination of a smart card and signature

3) personal characteristics

4y only smart cards

The word “confidentiality”™ in paragraph 2 is closest in meaning €0 -------—--,
1) disclosure 2)complexity 3) privacy 4) salety
What is the role of the anpti-tampering code as mentioned in the passage?

1} confirming the origin of the electronic transaction

2) adding attachments to a message

3) recognizing corruplion

43y verilyving both parlics

The author mentions a payment in electronic cash in order to -——------ :

1} give an example of messages that need additional features

2) point out the reduced need for physical cash

3) highlight the importance of using encryption

4) show an innovation cnabled by technology

PASSAGE 3:

Much of Ukraine’s intelligence and special operations structure bears the imprint of
the nation’s Soviet past. Both the Sceurily Scrvice of Ukraine (Sluzhba Bespeky
Ukrayiny: SBU) and its principal action unit are based on Soviet models.
Internationally, the Ukraine has come under suspicion as a supplier of materials to
rogue states and groups.

I'ounded in 1991, the SBU took over the old KGIB Ukrainian headquarters in the
capital cily of Kigv, It alse ook on the organization struclure, in many cases the
tactics, und cven many ol the personnel of its Sovicel predecessor. Like KGB, it
oversees both sceurity and iniclligence operations, and through its subunit GUR, lights
organized crime, terrorism, drug trafficking. and arms smuggling. Another important
SBU subunit is the action group Administration A, the “Alpha™ unit. Named and
modeled after the Sowviet Alpha unit that attacked the presidential palace in Kabul in
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1979, setting off the Soviet-Afghan war, it has counterterrorism and witness protection
responsibililics.

Despite 1ls slated oppoesition (o terrorisin, Ukraine has been accused (o supplying
materiel to terrorist states and groups. Not only did it supply two helicopters to
Slobodan Milosevic’s Serbia in 1999, but in 2002, it was under investigation by
United States and British arms experts on allegations that 1t had sold sophisticated
Kolchuga radar svstems to Iraq. Ukraing has also been accused, along with Russia and
the regime ol Pregident Alcksandr Tukashenko in Belarus, of selling weapons 1o rebel
armics in Sicrra Leone and Liberia. Western intelligence sources also reported that
representaiives ol Alghanistan’s  Taliban  regime  and  the  errorist  nelwork
al-Qaeda visited Kiev in September 1999, looking to purchase arms, parts, and
training.

What is the best title for the passage?

1) KGB

2) Ukraine’s Intelligence and Special Operations

3) Action Unit of Ukraine

4y Ukraine™s [nternational Relations

According to paragraph 1, the structure of Ukraine's special operations -—----—-— "
1) has soviet roots

2) is based on modern Russian models

3) 15 built with the supervision of Russia

4} 15 developed under indirect supervision of the Soviet Lnion

The word “it” in paragraph 2 refers to ---—--—--,
1) GUR 0, R M)
3YKGB 4y Organization siruclure

What is the main function of the second paragraph?

1y Dafferentiating between KGB and SBU

2) Introducing the structure and responsibilities of the SB1J

3) Deseribing the establishment of Ukraing’s security and intelligence operations

4) Lixplaining how the SBU ook over the KI3G Ukrainian headquarlers

According to paragraph 3, Ukrainc has been accused of supplying materials to all of the
following EXCEPT ---------—-,

1) Serhia 2) Irag 3) Belarus 4) Sierra [.eone
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